& Agrimaster

TRINCIATRICI - ATOMIZZATORI
ELEVATORI A FORCHE
DECESPUGLIATRICI
A BRACCIO IDRAULICO

Via Nobili 44
40062 MOLINELLA (BO) ITALY
Tel. (051) 882701 - Fax (051) 882542
e-mail: commerciale@agrimaster.eu
www.agrimaster.it

MEMBER

S
XB 150 - N° 43389

.-"- i

!

Olmenge 35 I/min

CATALOGO PARTI DI RICAMBIO
SPARE PARTS CATALOGUE
CATALOGUE PIECES DE RECHANGE
ERSATZTEILLISTE

CATALOGO PARTES DE REQUESTO



massimo
Nota
20/01/14

XB 150 Mazze
Portata olio 50 l/min
Idraulico con PGR
Pm 140x3 (bloccaggio 25x65)
Pc 140x3 (bloccaggio 30x65)
Cinghie SPA-X 1032
Motore Green 17 DI (0003505)
Anticavitazione 1/2"

JJ DABEKAUSEN






per ordinare i pezzi di ricambio

Per una corretta ordinazione dei pezzi di ricambio
delle nostre macchine & necessario indicare i
seguenti elementi:

1) Modello della macchina.

2) Numero di codice e Numero di catalogo.
3) Descrizione.

4) Quantita richiesta.

pour commander les pieces de rechange

Pour commander les pieces de rechange des
notre machine, il faut indiquer:

1) Modele de la machine.

2) Code et Nombre du catalogue.
3) Dénomination.

4) Quantité demandé.

to order the spare parts
To order the spare parts of our machines, cor-
rectly you must specify:
1) Model of the machine.
2) Code number and Catalogue number.
3) Description.
4) Required quantity.

um die ersatzteile zu bestellen

Fur eine Korrekte Bestellung der Ersatzteile mus-
sen folgende Einzelheiten angegeben werden:

1) Gerat-Modell.

2) Teil-Nummer und Katalog-Nummer.
3) Teil-Bezeichnung.

4) Gewunschte Menge.




TAV. 1061




TAV. 1061

RIF.

CODICE

DESCRIZIONE

RIF.

CODICE

DESCRIZIONE

RIF.

CODICE

DESCRIZIONE

J N O G e
A WO N ~ O © 0O N O O & ONDN

—_
[@)]

16

17

3012918
3012917
3011882
3012660
1111010
1012410
3011843
3011839
3011846
3011881
1111410
1012414
0002654
0001490
3011847
1120820
1012408
3008992
3007365
3007366
3007821
3001545
3001545
3001545
3001545
3001883

XB 110

XB 130

XB 150

XB 180

M10x30 UNI5739
M10 UNI7474

M14x30 UNI5739
M14 UNI7474
M10x1

KU 25x28x30

M8x55 UNI5931
M8 UNI7474
XB 110

XB 130

XB 150

XB 180

XB 110

XB 130

XB 150

XB 180

XB 110

= N =~ OO O -

- A A N O A B N o

—_

35
41
48
54
36

3001883
3001883
3001883

XB 130
XB 150
XB 180

43
49
58




TAV. 1062




TAV. 1062

RIF.

CODICE

DESCRIZIONE

RIF.

CODICE

DESCRIZIONE

RIF.

CODICE

DESCRIZIONE

-~ O © 00 N O o & W N -~

- A A A -
A W N

-
D O

17
18
19
20
21
22
23
24
25

3007286
1110804
1309243
1508150
0001353
0001007
0001352
3009479
3005565
0002661
1111006
1012410
3000979
3000640
0001421
3008972
3000649
3000648
3007327
3000978
3000990
1020072
0002659
1012414
3005676
1101434

M8x16 UNI5739
28x24x3 UNI6593
28 UNI6798A
30x65

SPA-X 1000 XB 150
25x65

SPA 160x3 XB 150
SPA 112x3 XB 150
M10x1x90°
M10x20 UNI5739
M10 UNI7474

Sx

1306
30,5x42x1,5
30,5x42x0,5

XB 150
Dx

Seeger | 72 UNI7437

M6

M14 UNI7474 XB 150
XB 150

M14x90 UNI5737 XB 150

= 00 0O = Q@ = =

AN DN

24
24
24

26
27
28

3005674
3005675
3009799

XB 150
XB 150
XB 150

48
24
24




TAV. 1063




TAV. 1063

RIF.

CODICE

DESCRIZIONE

<

RIF.

CODICE

DESCRIZIONE

RIF.

CODICE

DESCRIZIONE

o N oo o b

10

11
12

0002654
1111006
1111006
1210000
1210000
3002717
3000180
0001411
3000486
3005363
3002736
3002703
3007785
3005365
3000429
3002715
3007784
1310303
1310303
1111010
1012410

M10x1

M10x20 UNI5739 XB 110/150
M10x20 UNI5739 XB 180
210 UNI1751 XB 110/150
210 UNI1751 XB 180

45x51,5x1,5
6205-2RS

XB 110

XB 130

XB 150

XB 180

XB 110

XB 130

XB 150

XB 180

210 UNIG593 XB 110/150
210 UNI6593 XB 180
M10x30 UNI5739
M10 UNI7474

N N M DNMN OO~ 0N

—_

—_

A A 1 A




TAV. 1064/H




TAV. 1064/H

RIF.

CODICE

DESCRIZIONE

<

RIF.

CODICE

DESCRIZIONE

RIF.

CODICE

DESCRIZIONE

0 N o a A WODN -

11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27

0003505
0002310
0002026
0001701
0002309
1208000
1120810
3012480
3005853
1020068
0001493
3012478
3005921
1012410
1012510
0007447
1021512
0002900
0003515
1551006
1312363
1012412
1108000
1208000
1120810
1310303
1112000

3/4”-1/2”

3/4”

OR 132

3/47x40

28 UNI1751
M8x30 UNI5931

Seeger | 68 UNI7437
6008 2RS

M10 UNI7474
M10 UNI5588

M12x1,5 UNI5589

4x6,5x16 UNI6606
212 UNI6593
M12 UNI7474

28 UNI6592

28 UNI1751
M8x30 UNI5931
210 UNI6593

212 UNI6592

) I N S - & S i S e T T T S | B \C R N N \C R \C R \C R |G B

28
29
30
31
32
33
34

0002420
0002305
0002359
0002300
0005776
0008712
0002454

1/2”
1/2”
1/2”
1/27-1/4”
1/4”
1/2”
1/2”

= N A A








<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Gray Gamma 2.2)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.6
  /CompressObjects /All
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /sRGB
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType true
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo false
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo false
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Remove
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 100
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 100
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages false
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 1.30
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /ColorImageDict <<
    /QFactor 1.30
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 10
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 10
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 150
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages false
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 1.30
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /GrayImageDict <<
    /QFactor 1.30
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 10
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 10
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 300
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 300
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects true
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e5c4f5e55663e793a3001901a8fc775355b5090ae4ef653d190014ee553ca901a8fc756e072797f5153d15e03300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc87a25e55986f793a3001901a904e96fb5b5090f54ef650b390014ee553ca57287db2969b7db28def4e0a767c5e03300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020d654ba740020d45cc2dc002c0020c804c7900020ba54c77c002c0020c778d130b137c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor weergave op een beeldscherm, e-mail en internet. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents best suited for on-screen display, e-mail, and the Internet.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
    /ITA <>
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToRGB
      /DestinationProfileName (sRGB IEC61966-2.1)
      /DestinationProfileSelector /UseName
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing false
      /UntaggedCMYKHandling /UseDocumentProfile
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [600 600]
  /PageSize [612.000 792.000]
>> setpagedevice




